[N of simulated tracks vs dxy(PV) ]

N of associated tracks (simToReco) vs dxy(PV) ]

[} F I’J
< o
S F
8 5
2 s
$ 5
Q c
= S
[
@
g
T
[
A.
0%5-20-15-10 -5 0 5 10 15 20 25 0 E=36-15-10 =5 0 5 10 15 20 25
TP dxy(PV) (cm) TP dxy(PV) (cm)
—=— DQM_mkFit_baseline
—e— DQM_mkFit_baseline6iter
[N of sim] —— DQM_mkFit_TT_RetrainV2_WP2_6iter_ep3
1] [%2]
<@ o
S F
8, I
g 10 g
= @
g g
F o2 2
10 &
10
LA - I!
8+ ! e H T 2
¢ T T
e i U Gttt itk @
UL E A
0957-0.8-0.6-0.4-0.2 0 0.2 0.4 0.6 0.8 1 091080604020 02040608 1
TP dxy(PV) (cm) TP dxy(PV) (cm)
[N of simulated tracks vs dz(PV) ] [ Nof associated tracks (simToReco) vs dz(PV) ]
1] F w0
3 F : g
s f : =
R Tou SeRTE T PP PP PP SPEPEP: P VPR PEPED B
5 <
3 : 2
8 10% - - e EEERRE e LEERRE 15
= 3
@

£ . k=]
5 : 5
14 ﬂ a4
- + ' PR
il
0¥ =20 -0 0 10 20 30 0% =20 -0 0 10 20 30
TP dz(PV) (cm) TP dz(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) ]
[%2] w0
g g o
] F
3
g £
< %]
Q j=
IS S
= 3
@

Ratio




	Contents
	Page 1


